
 
 

 

 

 

 

 

Fitting 

Instructions 

 

TOWBAR FOR: 
 

Tribute F60/F62 

 

 

 

MHA9U 
 

MATERIALS: 

 
A 1 Crossbar 
B 2 Sidearms 
C 4 Chassis Bushes 
D 4 M12 x 90 x 1.75 bolt, M12 x 1.75 Nyloc, M12 x 40 Washer  
E 6 M12 x 35 x 1.75, M12 x 1.75 Nyloc  
ZE 1 Electric Plate 
ZN 1 Neck Option  

 

FITTING: 

 
1.  Remove 4 M12 through bolts connecting galvanised tabs to the chassis. 
2.  Place sidearm (B) on the inside of the chassis rail, over the top of the galvanised tab, secure 

with fixings (D), when inserting the most rear bolts, insert the chassis bushes (C) into the 
chassis rail making sure the bolt goes through them. Hand tighten. 

3.  Attach the main bar (A) to the sidearms via fixings (E). 
4.  Torque up fixings E then D to the recommended torque setting. 
5.  Fix neck option and electrical plate (ZN, ZE) 

 

Recommended torque settings: Grade 8.8 bolts:  M10 - 52 Nm, M12 - 95 Nm  

 

 

 

 


